IH3602GXL, IH3752G, IH3802G - Door Probe Locking
Assembly

N
I
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

SPC_041A

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 A PAR3640 Mechanism, Complete Probe Locking 1 1
2 NLA - Bar, Probe Slide 1 1
3 Probe, Threaded 1 1
4 Slide, Bracket Bar 1 1
5 Screw, Set, Socket Head, Cup Point (5/16-18 x 2) 1 1
6 Screw, Flat, Socket Head (1/4-20 x 1-1/2) 1 1
7 Washer, Flat (5/16 x 3/4 x 3/64) 1 3
8 Washer, Lock, Internal Tooth (1/2) 1 2
9 Nut, Hex (1/4-20) 1 1
10 Nut, Hex (1/2-20) 1 2
11 Nut, Hex (5/16-18) 1 2

NOTE: A -Includes items 2 -11.




